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What is the reason of the 7129 — 73297 WIRYY ONR

OVERVIEW

DX1MW gives the reason why the 1127 maintain that a N1IAR 12 PRY WY is 721
»7avwnn. It is therefore more than obvious that PXnw is aware that the 7120
maintain this. N0 discusses how 7RnW realized that the 3127 maintain that
a nNPINR 12 PRY 1w 1S ST72VWNAN 72,

mooIn asks:
— 072¥IVN 003N NN NT TANRI AT TAN NINPT NN v HNINY OIN NN

It is astounding! If ®X»w knew of this 8n>>92 which states that according
to the 13127 whether the "Ww has n1anX or whether it has no NIAR it can

collect from 2°Tayn» %021 -
— AN 199 N9 109 Mawnn waaY i nvn 19 ON

If 5xmw indeed knew of this Xn>>12 he should have interpreted the miw»

in accordance with the X112 and he would not have been refuted -
— y1agwnn $5a3 HINN 13 PPN 192957 N9 NI Y95 KY IN)

And if 5% did not know of this Xnv13, so how does he indeed know
that according to the 3129 a "vw which has no n» R can collect from
sraywn?!’

MDOIN answers:
— NN Y1 RIT 9919 U

And one can say; that indeed ®X»w did not know of this xn>3 -
— Yoma1 nmnn M1 2,0 91 DIYY MOWIIDTI NIADM 1Y MR DYPNI Y1)

But nevertheless he realized, based on logic, that the 2°»51 maintain that a
NPINR 12 PRY WY can collect even 72ywnn, as I explained previously -
$9ONM 2399 115 9N 2331 9123 22X KD YTAYWNN 32X NI INT
For if a n1ank 12 PRY 70w cannot collect >72vwnn, it will also not be able
to collect from 1''12 just as »''9 maintains, and since we know that according to the

D M1 it is 1"12n 7293 (that is why the 231 argue on "1 by a NT"AR 12 PRY WW), we must
therefore conclude that it is also >7aywnn 2%,

! oxmw should have interpreted that the n2mn in the 73wWn is 77 2»NWI as it states in the Xn*>72 (and not
7T 270 PRWI as PR explains our 73wn in opposition to the Xn>»3).

> The y"2y> amends this to 23"

? See “Thinking it over’.

* See there footnote # 8.
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SUMMARY
581w realized, based on reason, that if a n"vw without nYIAR is 7" 7213
then it must also be >72aywnn 2.

THINKING IT OVER

mooIn asks from where did 7%nw derive that the 2251 maintain that a W
NYANIR 12 PRY is *Tavwnn 721 Why cannot we say that he derived it from the
rule of the 2’151 regarding a N1°NXR 12 PRW WY that it is not to be returned?
Seemingly we should return it to the m%» and (even) the MY will claim 7>
(or 9217 A2 °nvId), so if the MY cannot be o°pn the W he will not
collect and if the m%» will be o»pn the W he will rightfully collect [only]
n"12n (for it is a N1INN 12 PRY wmzz).6 The fact that we do not return it proves
that he will be able to collect from >72vwn where 01 of a lost W is not
effective in order to collect from the mmips!’

3 See footnote # 3.
® See x77 71"7 2,2 MdON, that even by a 993w qww, the mbv» can collect from the 71 if he is a»pn the Tow.
7 See *"10 and oM 1vn. See TIE on Xi711"7 2,2 mdon ‘Thinking it over’ # 4 and footnote # 46.
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